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XKL/ B 1-0/A 1-0/3KRL EN:] BRVR/ B ENZL NZRIL/FH BIRY R /KR mr>k/ B
(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
#5580 BA [1t58%| &= =] 5 =] 5 = o = 7 = % =] b =] 55 = 55 =
9H1H|& 1 -290 135 -207 135 42 -92 -145 75 -335 176 9 -63 -170 94 -35 -38 11
9H2H|*x 1[ -290 135 -207 135 42 -92 -145 75 -335 176 9 -63 -170 94 -35 -38 11
9H3H|H
ELEIE
9HS5H|X 1 -290 135 -207 135 42 -92 -145 75 -335 176 9 -63 -170 94 0 -35 -38 11
9H6H |k 1 -290 135 -207 135 42 -92 -145 75 -335 176 9 -63 -170 94 0 -35 -38 11
9H7H|X 31 -290 142 -222 144 44 -94 -150 78 -340 183 9 -64 -171 95 1 -34 -37 12
9H8H|& 1 -290 142 -222 144 44 -94 -150 78 -340 183 9 -64 -171 95 1 -34 -37 12
9H9H|x 1| -290 142 -222 144 44 -94 -150 78 -340 183 9 -64 -171 95 1 -34 -37 12
9H10H|H
9H11H|AB
9B 128X 1 -290 142 -222 144 44 -94 -150 78 -340 183 9 -64 -171 95 1 -34 -37 12
9H13H|/K 1| -290 142 -222 144 44 -94 -150 78 -340 183 9 -64 -171 95 1 -34 -37 12
9B 14H|RK 31 -290 141 -222 142 44 -93 -140 76 -340 182 9 -65 -172 94 0 -34 -37 12
9H15H|& 1| -290 141 -222 142 44 -93 -140 76 -340 182 9 -65 -172 94 0 -34 -37 12
9H16H|x 1{ -290 141 -222 142 44 -93 -140 76 -340 182 9 -65 -172 94 0 -34 -37 12
9H17H|8H
9H18H|A
9H198H|X 1| -290 141 -222 142 44 -93 -140 76 -340 182 9 -65 -172 94 0 -34 -37 12
98208 |k 1 -290 141 -222 142 44 -93 -140 76 -340 182 9 -65 -172 94 0 -34 -37 12
9H21H|XK 31 -299 151 -222 143 44 -84 -145 82 -340 185 14 -62 -175 96 0 -34 -38 12
9H22H|& 1 -299 151 -222 143 44 -84 -145 82 -340 185 14 -62 -175 96 0 -34 -38 12
9H23H|x 1| -299 151 =222 143 44 -84 -145 82 -340 185 14 -62 -175 96 0 -34 -38 12
9H24H|H
9H25H|A
9H26H|X 1 -299 151 -222 143 44 -84 -145 82 -340 185 14 -62 -175 96 0 -34 -38 12
9R27H (K 1 -299 151 -222 143 44 -84 -145 82 -340 185 14 -62 -175 96 0 -34 -38 12
9H28H|XK 31 -299 151 -222 143 44 -84 -145 82 -340 185 14 -62 -175 96 0 -34 -38 12
9B29H|& 1 -299 151 -222 143 44 -84 -145 82 -340 185 14 -62 -175 96 0 -34 -38 12
9H30H|x 1| -248 223 -189 184 50 -76 -124 110 -281 276 22 -46 -143 138 4 -14 -22 17
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(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (Gx)
+5H R (f58%| 5t = 5t = 5t =1 5t = 5t = 7t B 7t B 5t B 5t B

9818 |& 1 8| -64 of -17| -172 80 29| -83| -33 o -65 16| -56 49| -117 68
9A2H % 1 8| -64 of -17| -172 80 29| -83| -33 of -65 16| -56 49| -117 68
FEEEIE]

9848|8

9858 [N 1 8| -64 o -17] -172 80 29| 83| -33 o -65 16| -56 5 5| 49| -117 68
986H K 1 8| -64 o -17] -172 80 29| 83| -33 o[ -65 16| -56 5 5| -49| -117 68
9A7H A& 3 7| -62 of -17| -172 80 29| -85 -34 o -68 49| -57 5 7| -49| -118 75
FEEEIES 1 7] -62 of -17] -172 80 29| 85| -34 o -68 49| -57 5 7| -49| -118 75
989H [+ 1 7] -62 o] -17] -172 80 29[ -85 -34 ol -68 49| -57 5 7] -49] -118 75
98108[H

9811H|A

9A128| X 1 7] -62 o -17] -172 80 29| 85| -34 o -68 49| -57 5 7| -49| -118 75
9A13H]k 1 7] -62 o -17] -172 80 29| 85| -34 o] -68 49| 57 5 7] -49| -118 75
9A14H8| K 3 6| -62 o -17] -172 80 29| 85| -34 o -69 16| -55 5 7| -48| -117 75
9A15H[& 1 6| -62 o -17] -172 80 29| 85| -34 o -69 16| -55 5 7| 48| -117 75
9g816H[£ 1 6| -62 o -17] 172 80 29| -85 -34 o -69 16| -55 5 7| 48] -117 75
9817H|H

981888

9A198| N 1 6| -62 o -17] -172 80 29| 85| -34 o -69 16| -55 5 7| -48| -117 75
98208 [k 1 6] -62 o -17] -172 80 29 85| -34 o] -69 16| -55 5 7| -48| -117 75
9A21H|A 3 2| -39 9| -17] -174 85 29| 79| -48 5] -70 31| 56 5 3] 44| -119 81
9A22H[& 1 2| -39 o -17] -174 85 29| 79| -48 5 -70 31| -56 5 3] 44 -110 81
9A238 |t 1 2| -39 9| -17| -174 85 29| -79| -48 5| -70 31| -56 5 3 -44| -119 81
98248[H

9825H[8

9826H| N 1 2| -39 9| -17] -174 85 29| 79| -48 5] -70 31| 56 5 3] 44| -119 81
98278k 1 2| -39 9| -17] -174 85 29| 79| -48 5] -70 31 56 5 3] 44| -119 81
9A28H|A 3 2| -39 9| -17| -174 85 29| -79| -48 51 -70 31| -56 5 3 -44| -119 81
9A29H[& 1 2| -39 o -17] -174 85 29| 79| -48 5] -70 31 56 5 3] -44| -119 81
98308 |t 1 4 -8 -5 4| -161| 156 35| -73| -24 18| -59 50| -47 5 33| 36| -92 84
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(GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX) (GX)
58 e |[d5E%| % | =B s | B8 | % | 8| % |8 |%|8|%|8|%| 8| % 5 | x| =
9H1H|& 1 -164 112 37 -94 -41 -57 -78 22 -101 -109 49 -34 -43 -190 89 6 -41
9H2H|x 1[ -164 112 37 -94 -41 -57 -78 22 -101 -109 49 -34 -43 -190 89 6 -41
9H3H|H
985488
9H5H|X 1 -164 112 37 -94 -41 -57 -78 22 2 -101 -109 49 -34 -43 -190 89 6 -41
9H6H|XK 1| -164 112 37 -94 -41 -57 -78 22 2 -101 -109 49 -34 -43 -190 89 6 -41
9A7H|X 3| -164 117 38 -93 -46 -58 -76 22 2 -98 -108 49 -26 -43 -185 89 0 -40
9H8H|& 1| -164 117 38 -93 -46 -58 -76 22 2 -98 -108 49 -26 -43 -185 89 0 -40
9H9H|x 1| -164 117 38 -93 -46 -58 =76 22 2 -98 | -108 49 -26 -43 -185 89 0 -40
9H10H|H
9H11H|A
9H12H|X 1| -164 117 38 -93 -46 -58 -76 22 2 -98 -108 49 -26 -43 -185 89 0 -40
9H13H|K 1| -164 117 38 -93 -46 -58 -76 22 2 -98 -108 49 -26 -43 -185 89 0 -40
9H14H|AK 3| -167 119 42 -94 -44 -56 =77 22 1 -98 -107 49 -28 -47 -186 89 0 -39
9H15H|& 1| -167 119 42 -94 -44 -56 -77 22 1 -98 -107 49 -28 -47 -186 89 0 -39
9H16H|x 1 -167 119 42 -94 -44 -56 77/ 22 1 -98 =il{0)7/ 49 -28 -47 -186 89 0 =89
9H17H|H
9H18H|A
9H19H | X 1 -167 119 42 -94 -44 -56 -77 22 1 -98 -107 49 -28 -47 -186 89 0 -39
9H208 K 1 -167 119 42 -94 -44 -56 -77 22 1 -98 -107 49 -28 -47 -186 89 0 -39
9H21H|XK 3| -166 119 38 -93 -50 -12 -85 43 5 -70 -114 61 -27 -44 -186 89 0 -35
9H22H|& 1| -166 119 38 -93 -50 -12 -85 43 5 -70 -114 61 -27 -44 -186 89 0 -35
9H23H|L 1[ -166 119 38 -93 -50 -12 -85 43 5 -70 -114 61 -27 -44 -186 89 0 =315
9H24H|H
9H25H|H
9H26H|X 1[ -166 119 38 -93 -50 -12 -85 43 5 -70 -114 61 -27 -44 -186 89 0 -35
9H27H|xK 1| -166 119 38 -93 -50 -12 -85 43 5 -70 -114 61 -27 -44 -186 89 0 -35
9H28H|AK 3| -166 119 38 -93 -50 -12 -85 43 5 -70 -114 61 -27 -44 -186 89 0 -35
9H29H |& 1| -166 119 38 -93 -50 -12 -85 43 5 -70 -114 61 -27 -44 -186 89 0 -35
9H308|x 1 -167 141 57 -70 -19 14 -75 56 38 -43 -107 97 9 -12 -193 167 17 -23
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58 BEE (t58%| 35T E 55 B 75 B
9R18H|& 1] -119 38 -28 -21 -29 17
9R2H|x 1| -119 38 -28 -21 -29 17
9H38|H
9H48|8
9A5H|N 1| -119 38 -28 -21 -29 17
9H6H|K 1| -119 38 -28 -21 -29 17
9RA7H|XK 3| -119 38 -29 -21 -30 17
9H8H|& 1] -119 38 -29 -21 -30 17
9R98|x 1] -119 38 =2 -21 -30 17

9H10H|H

9H118H|H

9H12H|X 1] -119 38 -29 -21 -30 17
9H13H|K 1| -119 38 -29 -21 -30 17
9H14H| K 3| -119 37 -29 -21 -49 17
9H15H|& 1| -119 37 -29 -21 -49 17
9A16H|E 1] -119 37 -29 -21 -49 17
9H178H|H

9H18H|H

9H19H|X 1| -119 37 -29 -21 -49 17
9H20H|K 1| -119 37 -29 -21 -49 17
9H21H|K 3| -101 64 -33 0 -30 16
9H22H|& 1| -101 64 -33 0 -30 16
9R23H|L 1] -101 64 -33 0 -30 16
9H24H|H

9H258H|H

9H26H|X 1] -101 64 -33 0 -30 16
9H27H|K 1| -101 64 -33 0 -30 16
9H28H|K 3| -101 64 -33 0 -30 16
9H29H|& 1] -101 64 -33 0 -30 16
9RA30H|L 1| -123 63 -32 =5 -48 27
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58 iZQ |58%| 5t = 7t = 7t = 5t = 5t = 5t B 5t B 5t B 7t B
9H1H|& 1| -2892 | 1346 | -2058 | 1341 | 417 | -914|-1447| 748 |-3349| 1759 90| -628|-1695| 937 349 | -371 | 107
9H28|% 1| -2907 | 1353 | -2055 | 1340 | 416| -912|-1446 | 748 |-3344| 1757 90| -628|-1696| 938 -348 | -374 | 108
BEEEIE
9A4H|A
9B5H|N 1] 2911 ] 1355] -2062 | 1344 | 418 -916|-1451| 751[-3360] 1765 90| -630[-1698] 939 0| -350|-368| 107
9H6H [k 1] -2935 | 1366 | -2065 | 1346 | 418 -917|-1444| 747 [ -3371| 1771 90| -628[-1696] 938 o -351[-370] 107
9A7H A 3| -2899 | 1419 | -2219| 1440 | 439 | -939|-1499| 779 |-3382| 1819 90| -640 | -1705| 947 9| -338|-370| 120
oH8H|& 1] -2801 | 1415]-2207 | 1432 436 -934|-1494| 777]-3363] 1809 89| -638[-1702| 946 o 336 -369| 120
EEEEIES 1] -2901 | 1420] -2216 | 1438 438 -938[-1499| 779[-3372] 1814 90| -640[-1710| 950 9| -337[-372] 121
98108[H
9H11H|8
oF128| N 1] -2878 | 1409 | -2208 | 1432 436| -934|-1500| 780 -3358| 1806 9| -640[-1707 | 948 o -336[-374| 121
9813H]k 1] -2886 | 1413 -2217| 1438 | 438 -938|-1504| 782 -3364| 1810 90| -642[-1708] 949 o 336[-374| 121
9B148[& 3] -2008 | 1413 -2220| 1419 440| -929|-1402| 761 -3408] 1824 90| -651[-1728] 944 0| -341|-373] 121
9A15H[% 1] -2008 | 1413 -2202| 1408 | 436 | -921|-1407| 764 -3385] 1811 90| -652-1727] 943 0| -339[-369] 120
9816H[£ 1] 2916 | 1416 [ -2212| 1414 438 -925[-1408| 764 |-3388] 1813 90| -653[-1728] 944 0| -339[-371] 120
981788
9818H[8
9F19R| N 1] -2011 | 1414 | -2214 1416 | 439 -926|-1407| 764 | -3382| 1810 9| -653[-1730] 945 0| -338]-369| 120
98208 ]k 1] -2016 | 1417 -2216 | 1417 439 -927[-1413| 767 |-3390| 1814 91| -656-1738] 949 0| -339(-372| 121
FEREIES 3] -2999 | 1515|2222 1431 440| -840 -1453| 822 -3397| 1848 140| -621[-1753| 962 0| 339 -382| 121
9822H[& 1] -2984 | 1507 [ -2210 | 1424 | 437 -835[-1438| 813|-3365| 1831 | 138] -614[-1745] 957 o -336[-379| 119
9A23H |t 1| -3000 | 1515|-2220 | 1430 | 439| -839|-1452| 821|-3369| 1832| 140| -620|-1764| 968 0| -336|-385| 121
98248[8
98258(8
9H26H|X 1] 3011 | 1520 -2216 | 1427 | 438 -837|-1453| 822|-3373| 1835| 140| -621[-1771] 972 0| 336|386 122
98278 |k 1] 3014 | 1522 2214 | 1426 | 438 -837[-1449| 819]-3362| 1828 139 -619[-1767| 969 0| -335[-380] 120
9M28H|A 3| -3014 | 1522 | -2214 | 1426 | 438 | -837|-1449| 819|-3362| 1828 | 139| -619|-1767| 969 0| -335|-380| 120
FEEEEIE 1] 3019 | 1524 -2216 | 1428 | 439 -838|-1458| 824 |-3380| 1838 | 140 -623|-1775] 974 o| -337[-382| 121
9A308 |t 1| -2484 | 2233 | -1894 | 1843 | 501 | -761|-1249| 1108 |-2825| 2776 | 221 | -463|-1445| 1395 40| -140|-222| 172
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(=) (=) (IR%E) (=) (=) (IR%E) (IR%E) (%) (%)
58 iR |58 5T B 5t B 7t B 7t B 7t B 5t B 5t B 5t B 5t B

9818 |& 1 79 -636 0([-169 | -1721 801 287 -824 -329 0 -649 | 159 -555 50 49 -489 | -1160 674
982H|% 1 79 -635 0[-169 | -1718 799 287 -823 -331 -648 | 158 -558 50 49 -489 | -1163 675
9H3H|H

9848|8

9858 | X 1 79 -637 01]-170 | -1721 801 288 -826 -331 0 -651 | 159 -557 50 49 -490 | -1166 677
986H|K 1 79 -638 0[-169 | -1730 805 288 -827 -334 0 -653 | 160 -561 50 49 -488 | -1169 679
987H|K 3 70 -619 0[-169 | -1720 799 290 -849 -340 0 -676 | 486 -569 50 70 -490 | -1177 747
988H|& 1 69 -616 0]-169 | -1709 794 288 -844 -339 0 -672 | 483 -568 50 70 -488 | -1171 744
9898 |% 1 70| -618 0[-170 | -1720 800 289 | -848| -340 0| -674| 484 | -569 50 70 -490 | -1175 746
9H10H|H

9A11H(A

98128| X 1 69 -616 0|-169 | -1715 797 288 -845 -337 0 -671 | 482 -564 49 70 -490 | -1168 742
9813H|K 1 70 -619 0(-169 | -1723 801 290 -848 -338 0 -673 | 483 -565 50 70 -491 | -1171 744
9814H| & 3 59 -619 0|-170| -1724 802 290 -850 -341 0 -691 | 160 -551 50 70 -480 | -1170 749
9815H|%& 1 58 -614 0|-170| -1729 805 287 -843 -341 0 -686 | 159 -551 50 70 -482 | -1168 748
9A16H|L 1 58 -616 0|-170| -1732 806 288 -847 -342 0 -687 | 159 =552 50 70 -482 | -1168 748
9A17H(H

9H18H|A

9819H| X 1 58 -617 0[-170| -1734 807 289 -848 -341 0 -686 | 159 -550 50 70 -482 | -1167 747
98208 |k 1 58 -618 0|-171| -1742 810 289 -848 -342 0 -687 | 159 -551 50 71 -484 | -1168 748
9821H|K 3 19 -389 -90 [-170 | -1743 851 289 -791 -481 49 -698 | 309 -562 50 30 -441 | -1192 810
9822H|%& 1 19 -387 -89 |-169 | -1731 845 288 -787 -478 49 -691 | 307 -557 50 29 -436 | -1178 801
9823H|*L 1 19 -389 -90 | -171 | -1741 850 289 -790 -481 49 -692 | 307 -559 50 30 -441 | -1181 803
9H24H|H

9H25H(A

9826H| X 1 19 -388 -91 (-171] -1751 854 289 -789 -482 49 -693 | 307 -560 50 30 -441 | -1179 802
9A827H|K 1 19 -388 -90 [-171 | -1745 851 288 -788 -483 49 -690 | 306 -560 50 30 -440 | -1175 799
9828H|A& 3 19 -388 -90 | -171 | -1745 851 288 -788 -483 49 -690 | 306 -560 50 30 -440 | -1175 799
9829H|%& 1 19 -388 -91|-172 | -1751 855 289 -789 -484 49 -694 | 308 -558 50 30 -442 | -1178 801
9830H|*L 1 39 =7 -50 | -40 | -1606 | 1556 351 | -731| -239 179 -592 | 501 | -468 50| 333 -362 -922 842
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KBV AR 1-0/NZRL | BROR/DFFRL | HRL/ 24 1-0/7F9RL 1-0/Z42 BAROR/NZEL | BRVE/ZMZ | =BL/HFIEL
(1ZHE) (AZHE) (AZHE) (1ZH#E) (1) (1) (12%) (1) (FZH#E)
58 A [H5a%| & = 5 = 5 = 5 = 5 = 55 = % = = | 8| = =

9H1H|& 1| -1636 1116 368 -934 -409 -570 -779 219 19| -1004 | -1082 486 -339 -430 | -1900 [ 889 59 -409
9H2H8|xL 1] -1644 | 1122 367 -933 -409 -569 -778 219 19| -1002 | -1081 485 -339 -429 | -1897 | 888 59 -408
9H3H(H
NEREIE
9H5H(X 1| -1647 1124 369 -936 -411 -572 -781 220 19 [ -1006 | -1085 487 -340 -431 | -1906 | 892 60 -410
9H6H (K 1| -1660 1133 369 -938 -412 -574 -777 219 19 | -1007 | -1087 488 -342 -432 | -1912 | 895 59 -408
9H7H(X 3] -1639 1170 379 -930 -456 -576 -760 220 19 -979 | -1079 489 -259 -427 | -1840 | 885 0 -400
9H8H|& 1| -1635 1167 377 -925 -454 -573 -757 219 19 -974 | -1073 487 -257 -424 | -1830 | 880 0 -398
9H9H (L 1| -1640 | 1171 378 -928 -455 -575 -760 220 19 -977 | -1077 489 -258 -425 | -1834 | 882 0 -400
9H10H(H
9H11H|A
9H12H (X 1| -1627 1161 377 -925 -453 -572 -760 220 19 -974 | -1073 487 -257 -424 | -1826 | 878 0 -400
9H13H(K 1| -1632 1165 378 -929 -454 -573 -762 220 19 -978 | -1077 489 -257 -424 | -1830 [ 880 0 -401
9H14H (XK 3| -1674 1193 419 -940 -440 -560 -771 220 9 -979 | -1070 489 -280 -470 | -1864 | 892 0 -390
9H15H (& 1| -1674 1193 416 -932 -437 -556 -773 220 9 -971 | -1061 485 -278 -467 | -1852 | 886 0 -391
9H16H|L 1| -1678 1196 418 -936 -438 -557 -774 221 9 -976 | -1066 487 -278 -467 | -1853 | 886 0 -392
9H17H(8
9H18H|A8
9H19H (X 1| -1675 1194 418 -938 -437 -556 -774 220 9 -977 | -1067 488 -278 -466 | -1850 [ 885 0 -392
98208 [K 1| -1678 1196 419 -938 -438 -557 -777 221 9 -978 | -1068 488 -279 -467 | -1854 | 887 0 -393
9H21H|XK 3| -1664 1193 380 -930 -498 -119 -851 430 49 -701 | -1140 610 -269 -440 | -1859 [ 888 0 -350
9H22H|(& 1| -1656 1186 378 -925 -493 -118 -843 426 49 -697 | -1134 607 -267 -435 | -1841 [ 880 0 -346
9H23H|x 1| -1665 1193 379 -929 -494 -118 -851 430 49 -700 | -1139 610 -267 -436 | -1843 | 881 0 -350
9H24H(H
9H25H(A
9H26H (X 1| -1671 1197 379 -927 -495 -118 -851 430 49 -699 | -1137 609 -267 -436 | -1846 | 882 0 -350
9H27H (K 1| -1673 1199 378 -927 -493 -118 -849 429 49 -698 [ -1136 608 -266 -435 | -1839 [ 879 0 -349
9H28H (XK 3| -1673 1199 378 -927 -493 -118 -849 429 49 -698 | -1136 608 -266 -435 | -1839 | 879 0 -349
9H29H (& 1| -1675 1200 379 -928 -496 -118 -854 432 49 -699 | -1137 609 -268 -437 | -1849 | 884 0 -351
9H30H|* 1| -1673 1412 570 -701 -190 140 -755 564 381 -430 | -1071 971 89 -120 | -1941 (1679 171 -232
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Bt =g i £ TR Al o] Hle] = -0 EEle] FE
NZRIL /R R NZRIL/ hF5FRIL =ERY/H KRL/H 1-0/HM 1-0/%XRL EN Y4 FRVR/H SRV KRV
(1) (1) (12%) (ZANJ—==2%) (ZANJ—==24) (ZNJ—==27) (ZNJ—==27) (ZANJ—==29) (ZAN)—=227)
F5H B ({582 5% =1 55 =1 5% =1 55 =1 58 =1 58 = 58 = 58 = 58 =
9H1H|& 1] -1186 379 -279 -209 -285 167 -289 135 -206 134 42 -91 -145 75 -335 176 9 -63
9H2H|*x 1| -1187 379 -279 -209 -286 167 -291 135 -206 134 42 -91 -145 75 -334 176 9 -63
9HA3H(H
9H4H (8
9HS5H|X 1] -1188 379 -279 -210 -285 167 -291 136 -206 134 42 -92 -145 75 -336 176 9 -63
9H6H|K 1| -1187 379 -279 -209 -283 166 -294 137 -207 135 42 -92 -144 75 -337 177 9 -63
9B7H|RK 3[ -1186 379 -289 -209 -297 168 -290 142 -222 144 44 -94 -150 78 -338 182 9 -64
9H8H|& 1| -1185 378 -288 -209 -296 168 -289 142 -221 143 44 -93 -149 78 -336 181 9 -64
9H9H|* 1| -1190 380 -290 -210 -297 168 -290 142 -222 144 44 -94 -150 78 -337 181 9 -64
9H10H|H
9H11H|8B
9H12H|X 1] -1188 379 -289 -209 -300 170 -288 141 -221 143 44 -93 -150 78 -336 181 9 -64
9H13H|/K 1] -1189 379 -289 -209 -302 171 -289 141 -222 144 44 -94 -150 78 -336 181 9 -64
9H148H|XK 3[ -1195 372 -291 -210 -493 171 -291 141 -222 142 44 -93 -140 76 -341 182 9 -65
9H15H|& 1] -1194 371 -291 -210 -495 172 -291 141 -220 141 44 -92 -141 76 -339 181 9 -65
9H16H|x 1] -1195 372 -291 -210 -497 172 -292 142 -221 141 44 -93 -141 76 -339 181 9 -65
9H17H|8H
9H18H|A8
9H198H|X 1| -1197 372 -292 -210 -494 172 -291 141 -221 142 44 -93 -141 76 -338 181 9 -65
98208 |k 1| -1202 374 -293 =211 -497 172 -292 142 -222 142 44 -93 -141 77 -339 181 9 -66
9A21H|XK 3( -1012 641 -331 0 -301 160 -300 151 -222 143 44 -84 -145 82 -340 185 14 -62
9H22H|& 1| -1007 638 -329 0 -297 158 -298 151 -221 142 44 -84 -144 81 -337 183 14 -61
9H23H|* 1] -1018 645 -333 0 -299 159 -300 152 -222 143 44 -84 -145 82 -337 183 14 -62
9H24H|H
9H25H|8
9H26H|X 1] -1022 648 -334 0 -297 158 -301 152 -222 143 44 -84 -145 82 -337 183 14 -62
9H27H|K 1| -1020 646 -333 0 -295 157 -301 152 -221 143 44 -84 -145 82 -336 183 14 -62
9H28H|& 3( -1020 646 -333 0 -295 157 -301 152 -221 143 44 -84 -145 82 -336 183 14 -62
9H29H|& 1] -1024 649 -335 0 -295 157 -302 152 -222 143 44 -84 -146 82 -338 184 14 -62
98308 |* 1| -1243 636 -323 -50 -484 272 -248 223 -189 184 50 -76 -125 111 -283 278 22 -46
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AWTRAY LA~

BT = o] EEE =e] Lo = I+1=] E=E = +| SE i
NZRV/FH SRR/ KRIL M7 R/H 1-0/%Rb NZRIL/KRIL hF9RIV/H 1-0/%ROR KRV DFFRIV TR R/FRNIL
RN-2>%) RN=22%) RN-2>%) RN-22%) (CAVE2) (G2 RN-22%) RN-22%) RN-22%)
H5H BBE [(t58%| = 55 = 55 = 55 = 5 = 7 =] s | 82| & = 5 =
9A18|& 1| -169 94 0 -35 -37 11 8 -64 0 -17 -172 80 29| -82 -33 0 -65 16
9A2H (%= 1l -170 94 -35 -37 11 8 -64 0 -17 ( -172 80 29| -82 -33 0 -65 16
9A3H[H
9A4H|A
9A5H| X 1| -170 94 0 -35 -37 11 8 -64 0 -17 -172 80 29| -83 -33 0 -65 16
9A6H|K 1| -170 94 0 -35 -37 11 8 -64 0 -17 -173 80 29| -83 -33 0 -65 16
9A7H|K 3] -170 95 1 -34 -37 12 7 -62 0 -17 -172 80 29| -85 -34 0 -68 49
9A8H|& 1| -170 95 1 -34 -37 12 7 -62 0 -17 -171 79 29| -84 -34 0 -67 48
9A9H|x 1| -171 95 1 -34 =37 12 7 -62 0 -17 =172 80 29 | -85 -34 0 -67 48
98108|H
9A11H[A
98128 | X 1l -171 95 1 -34 -37 12 7 -62 0 -17 -171 80 29| -84 -34 0 -67 48
9H13H|K 1 -171 95 1 -34 -37 12 7 -62 0 -17 -172 80 29| -85 -34 0 -67 48
98148 | K 3| -173 94 0 -34 -37 12 6 -62 0 -17 -172 80 29| -85 -34 0 -69 16
9A15H|& 1 -173 94 0 -34 -37 12 6 -61 0 -17 -173 80 29| -84 -34 0 -69 16
9A16H|L 1l -173 94 0 -34 =37 12 6 -62 0 =il7 =il73 81 29| -85 -34 0 -69 16
9A17H[A
9A18H|8
98198 | X 1l -173 95 0 -34 -37 12 6 -62 0 -17 -173 81 29| -85 -34 0 -69 16
9A20H|K 1l -174 95 0 -34 -37 12 6 -62 0 -17 -174 81 29| -85 -34 0 -69 16
9A21H|XK 3| -175 96 0 -34 -38 12 2 -39 -9 -17 -174 85 29| -79 -48 5 -70 31
98220 |& 1l -174 96 0 -34 -38 12 2 -39 -9 -17 -173 84 29| -79 -48 5 -69 31
98238 |% 1l -176 97 0 -34 -38 12 2 -39 =9 -17 -174 85 29| -79 -48 5 -69 31
9A248|H
9A258[A
98268 | X 1l -177 97 0 -34 -39 12 2 -39 -9 -17 -175 85 29| -79 -48 5 -69 31
9H27H|XK 1 -177 97 0 -34 -38 12 2 -39 -9 -17 -174 85 29| -79 -48 5 -69 31
9A828H|A& 3| -177 97 0 -34 -38 12 2 -39 -9 -17 -174 85 29| -79 -48 5 -69 31
9A829H|& 1l -177 97 0 -34 -38 12 2 -39 -9 -17 -175 85 29| -79 -48 5 -69 31
98308 |% 1| -145 139 4 -14 =22 17 4 -8 =5 -4 -161 156 35| -73 -24 18 -59 50
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AWTRAY LA~

Bifir = Elle] il el E3e] = Bl =H=E1+1 | < DR L e b =]
NIaU5,/H | EFL/NZRL 242/ H KRV ZAZ | 1-0/NZNL | BAOR 23900 | RNV AAR | 1-0/2F880 | 1-0/Z14X | BAOK/NZNL
(ZAN)=224) (RN)==24) (ZRNJ==24) (ZRB)==24) (ZAB)==24) (ZAM)==24) (ZAN)==4) (AN)==24) (ZAB)==24) (AB)==24)
- 5 | L . o . - - . - . - o e o . o - X . o .
58 i e 5t = 5t = 58 = 58 =1 58 = 58 = 5t B 7t B 5t B 7t B
9H1H|& 1 -55 -49 | -116 67 | -164 112 37 -93 -41 -57 -78 22 -100 | -108 49 -34 -43
9A2H|x 1 -56 -49 | -116 68 | -164 112 37 -93 -41 -57 -78 22 -100 | -108 49 -34 -43
9H3H|H
9H48|8
9A5H| X 1 -56 5 5 -49 | -117 68 | -165 112 37 -94 -41 -57 -78 22 21-101| -108 49 -34 -43
9H6H|XK 1 -56 5 5 -49 [ -117 68 | -166 113 37 -94 -41 -57 -78 22 21-101| -109 49 -34 -43
9A7H|X 3 -57 5 7 -49 [ -118 75| -164 117 38 -93 -46 -58 -76 22 2| -98| -108 49 -26 -43
9H8H|& 1 -57 5 7 -49 [ -117 74| -163 117 38 -92 -45 -57 -76 22 2| -97| -107 49 -26 -42
9H9H|x 1 =57 5 7 -49 | -118 75| -164 117 38 -93 -45 -57 -76 22 2| -98 | -108 49 =26 -43
9H10H|H
98118|8
9H12H|X 1 -56 5 7 -49 [ -117 74| -163 116 38 -92 -45 -57 -76 22 2| -97| -107 49 -26 -42
9H13H|xK 1 -56 5 7 -49 | -117 74 | -163 116 38 -93 -45 -57 -76 22 2| -98 | -108 49 -26 -42
9H14H|AK 3 -55 5 7 -48 | -117 75| -167 119 42 -94 -44 -56 =77 22 1| -98 | -107 49 -28 -47
9H15H|& 1 -55 5 7 -48 | -117 75| -167 119 42 -93 -44 -56 -77 22 1| -97| -106 48 -28 -47
9H16H|x 1 =55 5 7 48 | -117 75| -168 120 42 -94 -44 -56 =77/ 22 1| -98 | -107 49 =28 -47
9H17H|H
9H18H|A
9H19H | X 1 -55 5 7 -48 | -117 75| -168 119 42 -94 -44 -56 -77 22 1| -98 | -107 49 -28 -47
9H208 |k 1 -55 5 7 -48 | -117 75| -168 120 42 -94 -44 -56 -78 22 1| -98 | -107 49 -28 -47
9H21H|XK 3 -56 5 3 -44 [ -119 81| -166 119 38 -93 -50 -12 -85 43 5| -70| -114 61 -27 -44
9H22H|& 1 -56 5 3 -44 ( -118 80 | -166 119 38 -93 -49 -12 -84 43 5] -70| -113 61 -27 -44
9H23H|L 1 -56 5 3 -44 ( -118 80| -166 119 38 -93 -49 -12 -85 43 5| -70| -114 61 -27 -44
9H24H|H
9H25H|8
9H26H|X 1 -56 5 3 -44 | -118 80 | -167 120 38 -93 -49 -12 -85 43 5| -70| -114 61 -27 -44
9H27H|xK 1 -56 5 3 44 -118 80| -167 120 38 -93 -49 -12 -85 43 5| -70| -114 61 -27 -43
9H28H|A 3 -56 5 3 44 -118 80 | -167 120 38 -93 -49 -12 -85 43 5| -70| -114 61 -27 -43
9H29H |& 1 -56 5 3 44 -118 80 | -167 120 38 -93 -50 -12 -85 43 5| -70| -114 61 -27 -44
9H308|x 1 -47 5 33 -36 -92 84 | -167 141 57 -70 -19 14 -76 56 38| 43| -107 97 9 -12
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AWTRAY LA~

B = =] | =] B | i 3 ] | E-Hlel
"ACK/ZAZ | BEL/DIIRL | NZRL/ZAR | NZEL/h75RL ERY,/H
CR)) CIR)) CIR)) CA)) CIR))
58 il |58%| % B 75 B 75 B b B b B

9A1H|& 1| -190 89 6| -41| -119 38| -28| -21| -29 17
9826 |+ 1| -190 89 6| -41| -119 38| -28| -21| -29 17
9A3H|H

9H4H|A

9A5H[X 1| -191 89 6| -41] -119 38] 28] 21| -28 17
9A6H [k 1] -191 89 6| -41] -119 38| 28] 21| -28 17
9A7H A 3| -184 88 0| -40| -119 38| 29| -21| -30 17
9A8H|& 1] -183 88 o] -40] -118 38] 29 21| -30 17
FEEEIE= 1| -183 88 o] -40] -119 38] -29] -21] -30 17
9A108|H

9A11H[A

9A128|X 1] -183 88 o] -40] -119 38] 29[ 21| -30 17
9A138[K 1| -183 88 o[ -40] -119 38 29 21 -30 17
9A148[A 3] -186 89 o] -39 -119 37 29 21| 49 17
9A158[& 1| -185 89 o] -39 -119 37 29 21| 49 17
9A168 [+ 1| -185 89 o] -39[ -119 37] 29[ -21] -50 17
9A17H[H

9A188[H

9A198[X 1| -185 88 o] -39 -120 37 29 21| 49 17
9A208 [k 1| -185 89 o -39] -120 37 29[ 21| -s0 17
9A218[A 3] -186 89 o] -35] -101 64| -33 o[ -30 16
9A228 (& 1| -184 88 ol -35] -101 64 | -33 o] -30 16
9A23H |+ 1| -184 88 0| -35| -102 64| -33 0| -30 16
98248|H

9A258[H

9A26H[X 1| -185 88 o] -35] -102 65| -33 o] -30 16
9A278K 1] -184 88 o] -35] -102 65| -33 o[ -29 16
9A28H|A 3| -184 88 o| -35| -102 65| -33 0| -29 16
9A29H[& 1| -185 88 o] -35] -102 65| -33 o] -29 16
9A308 |+ 1| -194| 168 17| -23| -124 64| -32 5| -48 27
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